
Ric=30kt/day 

       
0

20

40

60

80

100

%
 o

f (
ob

s)
 R

I c
yc

le
s

 p
re

di
ct

ed
  b

y 
H

A
F

S

Control ENS(#>0) ENS(#>25%)
Experiment

Total RI cycles= 76

Ric=30kt/day 

       
0

20

40

60

80

100

%
 o

f n
on

-R
I c

yc
le

s
 fa

ls
el

y 
pr

ed
ic

te
d 

 b
y 

H
A

F
S

Control ENS(#>0) ENS(#>25%)
Experiment

Total non-RI cycles=293



Ric=20kt/day 

       
0

20

40

60

80

100

%
 o

f (
ob

s)
 R

I c
yc

le
s

 p
re

di
ct

ed
  b

y 
H

A
F

S

Control ENS(#>0) ENS(#>25%)
Experiment

Total RI cycles=111

Ric=20kt/day 

       
0

20

40

60

80

100

%
 o

f n
on

-R
I c

yc
le

s
 fa

ls
el

y 
pr

ed
ic

te
d 

 b
y 

H
A

F
S

Control ENS(#>0) ENS(#>25%)
Experiment

Total non-RI cycles=258


